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Each of the four samples below includes a colon. However, only one is used
correctly. Decide which one is correct and why.

1. Ohm'’s Law is named after the German physicist Georg Ohm: he described
measurements of voltage and current through simple electrical circuits
containing various different lengths of wire. IC A semicolon would work here,
or a full stop, to separate two linked independent clauses

2. Low blood pressure can be influenced by the following factors: the time
of day; how stressed or relaxed a person is; how much exercise they do;
temperature; if food has recently been eaten. C Used to introduce a list

3. When researching human subjects it is important to be objective: therefore,
information about thoughts or feelings should not be included, as these
cannot be directly observed. IC A semicolon or a full stop needed here to
separate two independent clauses when a linking word like ‘therefore’ is
used.

4. For example: fault in the immune system or genetic predisposition. IC A
semicolon is needed here (or acomma).




